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It is desired to match the load ZI=25+j50Q to 50Q TL, f=1GHz
-use two lumped elements (four connections are possible, previous lecture)
-Use TL and shunt stub

Two solutions are possible , solve for minimum stub length. Declare stub end ( s.c. or o.c.)

-use TL and shunt limped elements (two solutions )
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then shunt stub( s.c or 0.c))
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Example 2 with shunt C, G, series Land TL

|4 normaiiz

eg. ,=20-j25Q -,
f=159 MHz (o= 10°) s 4%
. Find Z;,, T, VSWR. byt B
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0.4- 0.5

\ [ Lock Source Impedance [ Lock Load Impedance
— /Y o = 0.0220= 1 Gamma: 0.57710 < 162.927 ] 0.27375 + 0.13908
wl/Z,=10/Z,=0.2

G/Y, = Z/R=50/20 = 2.5

B
X

)
I

n=0.58L163°
Zin=50(1/(2.93-1.5)
=13.5+j6.90Q




